
  public boolean containsKey(K key) {
        for (K i : keys()){
            if (i.equals(key)){
                return true;
            }
        }
        return false;
    }

public V get(K key) {
        Node<K,V> curr = head;
        Node<K,V> prev = null;
        while (curr != null){
            if (curr.key.equals(key)){
                if (prev == null){
                    return curr.value;
                }
                prev.next = curr.next;
                curr.next = head;
                head = curr;
                return curr.value;
            }
            prev = curr;
            curr = curr.next;
        }
        return null;
    }


